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The Test Booklet consists of two parts 'A' & 'B'. The total number of test items will be 100 of 
one mark each. 
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Subject 	 No. of 	Marks 	Time 

	

fdtra 	 Questions 	afw 	 TITTE1 
vrqi wITturrr 

••• 	, 

Part A 
vrrr aT 
Section I 	General English Comprehension 	10 	 10 	Composite 
litr" I 	.i11-11-e-1 ii.-) tq 	 time of 

Section II 	Logical & Analytical Reasoning 	20 	 20 	two hours 
7Trg II ei, 	-R-4 raqc‘)auliclich fq-9. 	

Tizi- 	Trrizr 
Section III 	Educational & General Awareness 	25 	 25 	 t 1;ft 
tgus III 	tfuw 74 'M411-ei 	--d-iT 

Section IV 	Teaching-Learning and the School 	25 	 25 
larrg IV 	#R-111T-33f4714 	i Fasii0q 

Part B 	* Subject Competence (any one) 	20 	 20 
VPT -4 	rigq+ici TR ITIT ( ch)i 7W ) 

"tTr" V 	 fdTi 

Section V 	(i) 	Science 

(ii) Mathematics 
Trfuru 

(iii) Social Science 
wiiirAg) f-4-T9. 

(iv) English 
3tt 

(v) Hindi 

.-q 
V. 	 . 
NOTE 

■,..17-11-, 	a . Any one subject is to be attempted from Part 'B'. If the candidate opts for more 
than one subject he/she will be treated as disqualified in this Part 'B'. 

9)-e : 	t `W t *WIt 'crW ftErzi wr4rt.  I 	' rn1 	ararAlwr `A. ' .47w aTivw reititif *ZWi- 
tdr W*34 %TWA. ' 374T-44 1:Flr •711 4 11 I 

Read the instructions given on the OMR Response Sheet carefully before you start. 
cbk TO OMR dlt--71q 'TT 	 .afFt* Tr* I 
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SPACE FOR ROUGH WORK 
77 Wzi * fa7 ,311 
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE 'SHEET 

(EXAMINATION ANSWER SHEET) 

OMR 3WT-1 TR' tr4ii (4174* f-44tr 

1. Write your complete Enrolment No. in 9 digits. Also write your correct name, address 

with Pin Code in the space provided. Put your signatures on the OMR Response Sheet 

with date. Ensure that the Invigilator in your examination hall also puts his signatures 

with date on the OMR Response Sheet at the space provided. You should use HB Pencil. 

311:ft 	iii-11ctri 	(`-14c,i4e. "9-1 R) 9 3 	14 ffffti-71 r 	 Tr4 TPAT-4 	3Tcr9i-  TIt -4-FT a F4-1 

c 8 Tita. -gm %ft fi-{g71 OMR art-ter TR -r-en u 3474 -F7fraTT -w11771 -TIT %ft -q9-fq---4u 

qiirmk; 	3Trcrk "cift-11 	T 	P-14vw 4 OMR dTit-- -crq 	Tr4 Tar4 -cR fain Trfo 	ffuT 

31TcW1 HB -4fTm- er .517* cm-1 .Ti7 I 

2. All information is to be filled up with HB Pencil. The circles corresponding to the digit 

are to be darkened with an HB pencil. 

Tka-4r HB 	r girl 	-qhm 34-1 	4, 1c1 	HB 	t 	r ti 

3. Do not make any stray remarks on this OMR Response Sheet. 

TR OMR 31-R--cN. 	31-air-g-d rduAruti7 at fiVrri 	 (141 

4. Write correct information in numerical digit in Enrolment No. and Examination Centre 

Code columns. The corresponding circles should be dark enough and should be filled in 
completely. 

ti(seil 	-ER* 	.41( 	1 -14 3-1-*--'f 	TTt To-9-t 	 .11-1 -craitTi 	 
-qrr7 3-17 tik1 cR 	 iq -curi 

5. Each question is followed by four (or less) probable answers, which are numbered 1, 2, 3 

and 4. You should select and show only one answer to each question considered by you 

as the most appropriate or the correct answer. Select the most appropriate answer. Then 

by using HB pencil, blacken the circle bearing the correct answer number against the 

serial number of the question. If you find that the answer to any question is none of the 

four alternatives given under the question, you should darken the circle '0'. 
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.5rW 	miq 	(zfr ch+-1)TNTir4a.  31( t 	1, 2, 3 -ff2R 4 gRI 1;1(4'Lld -F0).  Tit t 1 3c-W 

51 -1 t 	 31r90 	 -) 311 zrF97 	fifes 011(11 111 1  f7# 3Trq   zrr 

t I Traif%TT t 	 4 31( 4-11•1 3 tfi 3t1( 1F-1V.i dc4YLI1ct HB 	wh-IT gRr 5R-1 	9hHi11 

	 4 	 31( (1* (S.611 	011 -79 mint 	 31rcr 4id t fm Hk-1 t 114 ro 

14 A -w1-1 (1.# 31( t 31rir*t ctd 'o' cril 	*Kit 	cnkli 	-c4111 

6. If you wish to change your answer, ERASE completely the already darkened circle by 

using a good quality eraser and then blacken the circle bearing your revised answer 

number. If incorrect answer is not erased completely, smudges will be left on the erased 

circle and the question will be read as having two answers and will be ignored for 

giving any credit. 

	 aTiq f*711.  31( 0 qq(1-11 ti , 	r 	t 	 1.> 	-41-uwfft 

	 cit 	 frier il',31 	-#0-Ftra.  31( (-1(911 r cj-d 	T .WW—A 	+101 31( 0 

	 fi:ra-Rrr Trzrr, t 	Tr4 co if To f9Tri 	-7r0. 	t 	3t1t 	4114 

3#-  P1-1   3T 	,1Z fwzrr 

7. No credit will be given if more than one answer is given for one question. Therefore, you 

should select the most appropriate answer. 

fl 	t fr 	A 3TRT 31( fTzrr 7r4Trr t .rki)-  17Trf-o7 3Trcr 

Taff iT 31=41 31( -0 	11(11 	1 

8. You should not spend too much time on any one question. If you find any particular 

question difficult, leave it and go to the next. If you have time left after answering all the 

questions, you may go back to the unanswered ones. 

1, 	trT   qk 317-4. 	 Qvidr t, t 

,311 	 t qiq 44k 34Trik 	Tcgrzr t, t 3117 

aiLiti -W*WW:r*-1 3-774 31( 	 rcql t 1 

B.Ed./ 2017 	 4 



9. Only one subject is to be attempted from PART 'B'. 

%TM `W' 14 4)citi 7W * ftErer wt .-4r I- 1 

You will attempt the questions as under : 

aTrEfTi TIVi ili-iivit cl 	t : 

Sl. No. 	Subject 	 No. of Questions 
.  

swim 	?awl. 	 TR* -4.  Tturr 

(i) Science 	 Q. Nos. 	81 to 100 

f4-4fff 	 3f9 4tsq 	I 81 .4 100 

(ii) Mathematics 	 Q. Nos. 101 to 120 

fluid 	 379.  kii.stii 101 * 120 

(iii) Social Science 	 Q. Nos. 	121 to 140 

flii-Iii\lict) fq-OF 	 317ff t-i(seif 121 * 140 

(iv) English 	 Q. Nos. 141 to 160 

att 	 749.  4(seil 	 141 * 160 

(v) Hindi 	 Q. Nos. 161 to 180 

•-q 	 3179.  '451411 161 * 180 
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GENERAL INSTRUCTIONS 

	f#147 

1. No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be 

allowed inside the examination hall. 

w-Ivr 	t 	 71-r -r -F7m -9)7, 

c-11 	 ti 

2. You should follow the instructions given by the Centre Superintendent and by the 

Invigilator at the examination venue. If you violate the instructions you will be 

disqualified. 

4 t1 iiiT-P.M. 	31-rtrt)- 	3T1-T-- 	 -gm f4 -74 	tr 	cm.-11 ti Tifq 31-rct 

	

TT 	 tt4 t 31-rcr*)-  37h-T'TI tr-Ffff fwza \itni 

3. Any candidate found copying or receiving or giving assistance in the examination will be 

disqualified. 

yt1 3rr -4 Tit t-)1 ,R1qttil -MO 	 -11qc-11 	Tri -5n7r 	4144T nqi 	334 

3-T-Efrrq tftsra. f i 7T417 I 

4. The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to you 

by the Invigilators. After the examination is over, you should hand over the OMR 

Response Sheet to the Invigilator before leaving the examination hall. Any candidate who 

does not return the OMR Response Sheet will be disqualified and the University may take 

further action against him/her. 

	

P-I.NT-4 	 1-1-1T 1-f1-TT 3 OMR 371t-1 f-.4 7T-44 1411a.TT 	TI141.71 Ala '7 4k TT .Tai.  

ts4 3-Trq OMR 37-R -117 -47 t9T r411-  I ITTIT2-41 3T1T4 OMR 

671t-1 fq   t ate 3 r'd f tT 7r4Trr 3 Rwirasno4 31:4- fad 3l-r4 *410 

-tl-rr 

5. All rough work is to be done on the Test Booklet itself and not on any other paper. Scrap 

paper is not permitted. For arriving at answers you may work in the margins, make 

some markings or underline in the Test Booklet itself. 

-Trt TEF cb141 ,-14vr -prwr 	t fwzrr 7M-Trr 3 f*-1:ft 3TP=1-  chi'l'i cr-{ -01 chi+Of i 	3TP4 

	

3-1-117 	t I --flt doh 71-dqk 	f9-4 31-11:1A.  i4v[ t7-*-r 	irrfft 	ch1 4-1 

f971-9.  (1 1 11 71T 374 . tirct)ci WT4 4)1 3T-1-1Trff ti 
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6. The University reserves the right to cancel scores of any candidate who impersonates or 

uses/adopts other malpractices or uses any unfair means. The examination is conducted 

under uniform conditions. The University would also follow a procedure to verify the 

validity of scores of all examinees uniformly. If there is substantial indication that your 

performance is not genuine, the University may cancel your score. 

FoRcirawriq f*711- 	1:t.T12,11 	 f9-(-17 	3TRT-*-rT -Tut t 	T-Rco-f q-R-Err 

* zfr 	air styli air *err Whir wcd-r 7:ff 31-fr Trrq-9.  777 it ti fur 41-1 1-11-1 

-ftqralff 	4-criroci 	k61 tl rctqc1RI611(1q 71111- 4t1 rf 	MI-clia4 	4-11 ,-ror 

c4 	 rsheiirarq 31-79-rtrh-  qrq truer 	* fa7 3Trz-rwr 	31Tr 	161 *, 

F.RaRmilog ate- 	f97- 7 	71-*71-  t 

7. Candidates should bring their hall tickets duly issued by the Registrar. In the event of 

your qualifying the Entrance Test, this hall ticket should be enclosed with your admission 

form while submitting it to the University for seeking admission in B.Ed. Programme 

along with your testimonials and programme fee. Admission forms received without hall 

ticket in original will be summarily rejected. 

TR-1-wfW 	Trfq--a gRi •TIR ft7 TRH girl fet7 	qk 31-rEr mdql 4R1ur 	ti “.r 

seurff -rw4 \711 t 	ch14911 4-1 	-514T 	roRclrolSIKlq 14 31714 A 4-11u1-1Tq 	-ftri=r 
4)14 t. 	7Tr 	 4(-v-1 	 -5r---4r 444 	1(‘-r 

	

TITcff 1;:t) 7.1.44 dq 74-Tt 	 -q-M-Trr 
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PART - A 
SECTION - I GENERAL ENGLISH COMPREHENSION 

Read the following passage carefully and choose the best answer out of the four choices 
given after each question that follows. 

White cement is the basic raw material for producing cement tiles and cement paint 
which are used extensively in building construction. The main consumers of white cement 
are, therefore, cement tile and cement paint manufacturing units. These consumers, mostly 
in the small scale sector, are today facing a major crisis because of a significant increase in 
the price of white cement during a short period. The present annual licensed production 
capacity of white and grey cement in the country is approximately 3.5 lakh tonnes. The 
average demand is 2-2.5 tonnes. This means that there is idle capacity to the tune of one lakh 
tonnes or more. The price rise is, therefore, not a phenomenon arising out of inadequate 
production capacity but evidently because of artificial scarcity created by the manufacturers 
in their self-interest. 

The main reason for the continuing spurt in cement price is its decontrol. As it is, there 
is stiff competition in the cement paint and tile manufacturing business. Any further price 
revision at this stage is bound to have a severe adverse impact on the market conditions. The 
Government should take adequate steps to ensure that suitable controls are brought in. Else 
it should allow import of cement. 

1. Why is the price of white cement going up ? 

(1) Because the government is controlling the quota. 

(2) Because of export of white cement. 

(3) Because of the large usage of white cement. 

(4) None of the above 

	

2. 	Which of the following statements is false according to the passage ? 

(1) Price rise in white cement would increase the price of cement paint. 

(2) White cement is a controlled product. 

(3) Increase in price of white cement is not because of production problem. 

(4) Price rise in white cement would upset cement tile market. 

	

3. 	What is the crisis being faced by the cement tile manufacturers as described in the passage ? 

(1) White cement is priced very low. (2) White cement is not of good quality. 

(3) White cement usage is high. 	(4) White cement prices are very high. 

4. Which of the following words has the same meaning as the word 'idle' as used in the 

passage ? 

(1) Lazy 	 (2) Clumsy 	(3) Large 	(4) Excess 

Directions : 
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T-31" 

tguS -1 : NI 441.0.4 fi,41 Ahr 

WiFT: 	ci (10 T/TOT azi7774T 77-47 ath-  so-t 7:71 7-rq. 	rach(4## 	Brit 3f77/ 

IT--49. f-iit-tir 3-7:frw  	at{ 	fulata-r* r(it fl4.)q 7:1114Z 
ai-rwitu 	Tuft t I 	 t yai.1 7cri.NurT1-1-4-e d.1(1 Bad 414d -4Z 	ul 
*etqe4111 -47cr9rr 	 411; t 	tr t I 31- 4.-*-r 	t 	-4-1:0 ai-FrfeTw 

cnivit bond 	 t k7T 	 *Trirrysi-w 7:1T1--STIRT 
'T•11.1TT 3.5 cii(g Zit 	*fff 1:6i 2-2.5 Zi t I Tt:KT 	 rittg Zi TIT dtttl  

3ifq-w d0-11q1 alfecr Wrai 1 aTff: "AlTff14 	3itr41:U 30-11q1 Wrdi i 4RU1 dO*1 trk 	IT7FEIT 
giti 3174 f0 	-a• 	Fq(gicte.1 	 t 

T1-1-4-z 	--1-14u. 	r-it-R c11a 	er 	r cnikui 77:1-*1 rar-v-iiut t I 7:1111Z-dici 
rar-14-11u1 cgcmiq 	Tfr-dTcrNt 1̀-ft t I Tqft2Ifff 14 aTT4 	'147n-Numta 	imiglik—f-mfueff 

	

-51ITR TI7Tr*t t I webit 794i fiztquf 	m ta  fii -q-zrft7r cbqH 3(31; .qif"R 
BT~TWr *gla 317ffff 	31-11:fri 	I 

	

1. 	*Fq7414z --1. 1-1:0<=v4••7tt? 
(1) aufw wchRTI-1-4at cf.)12. (r-miqt)   t I 
(2) -i4.)q4-kfittiff 	cbitui I 

(3)T47 Till:1Z wiff tsi§cutio 	wi 	it 61; -k chivit  

(4) Zcit*F 4 

	

2. 	imiqf *a-T-11:17 -14-1 ofigo -4 A.  .11-1 	 TIT 	TO' 	t? 

(1) T4-q 	•-11:ffl'f 	 T1-1-4a -la cril 	Trz 1141 1 

(2) 1,11  1:114Z ritiNd ZMK t I 

(3) -11:ra' 4 Tr-4 30-11c1 TIMZrr 	chltul -16 t 

(4) TF*7 #14Z 	'ATM' .7-4 #1:TE di*c-f 	ell :111( 	■71R+11 

	

3. 	iisiikf 'Wu 317rt 7:111?1"Z d1*(1 RAH 	f-*71 bane. WT 	t? 
(1) 	7:11"14Z 	Wg'ff Tri t r 	(2) TI*7 T11-4Z 374' ctairod 	t I 

(3) T*q 	zor-4ffr 	al-rw t (4) *Fq Thila 	wg-u \relict t 

	

4. 	14-1 ortvi tf 41-17 qisc 	istiqi 4 317r4ff `31fitqi' qi ,sq  ITT ti+il ~ifW t? 

(1) 	39TM:11. 	(2) 	staf 	 (3) 	etsl 	 (4) 	3-1- IfirT.  
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5. 	Which of the following is correct according to the passage ? 

(1) White cement is not used in the manufacture of paint. 

(2) White cement forms a minor part of tile manufacturing. 

(3) White cement is very important for tile manufacturing. 

(4) White cement is used only for making paints. 

	

6. 	Which of the following words has the same meaning as the word 'artificial' as used in the 

passage ? 

(1) Unnatural 	(2) Prolonged 	(3) Deliberate 	(4) Practical 

	

7. 	What is the author's suggestion to bring down prices ? 

(1) Government should control the white cement market. 

(2) Production capacity should be increased. 

(3) Usage of white cement in other areas should be reduced. 

(4) Competition among manufactures of cement paints and tiles should be reduced. 

	

8. 	Which of the following words has the opposite meaning as the word 'basic' as used in the 

paSsage ? 

(1) Vital 	 (2) Unimportant 	(3) Acidic 	(4) Last 

	

9. 	Which of the following is correct according to the passage ? 

(1) Cement production capacity is more than usage. 

(2) Cement production capacity is less than usage. 

(3) Cement production capacity is equal to usage. 

(4) Cement production capacity is twice than usage. 

10. What can be presumed from the passage regarding foreign trade in cement ? 

(1) The country is exporting cement at present. 

(2) The country is importing cement at present. 

(3) The country is exporting and importing cement at present. 

(4) The country is neither exporting nor importing cement at present. 
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5. 	ANAii *3T-1W( 	 t? 

(1) .4a 	rar-miur*6 -q1:1t4:1 .wr w-f141 	 

(2) Tr1-4a Zi C1 rar-Hiut 	iTrrr t 

(3) 3IC1 figiftir 	.14.)qTri 	aiTiff -grrffEkuiti 

(4) Trtq Trl-ga 	 Fri 	 

6. r-t--Ircifigo 	 `ki.giajlt Trziwr wit-1p41 t? 

(1) aTiztidw 	(2) 	c14chici (3) 	. N"""Tw (4) 

7. :Err Trrq t? 

(1) tacit Tr T47 Tr1 -4z cilgIR "CR femur 1-r---R1 

(2)  dmq-i Wrd-1 	Giqmi 	It-R I 

(3) 311 	Tf*q Trlit 	sit1l+1 	-EraT taT 

-4-z* 

ft-R I 

(4) Trlga 	 rcir-Hidiaff* cal mkilPidi 	TR cntrii 

8. -4 P14-11011.10 ct) 1-T1T 	g 	ftirra• 31TNTT7' kieq 	rcli-R1C11 2tWt? 

(1) ilk 	 (2) 	al-grEpf (3) 	31-1-174 (4) affall• 

9. *3-1717 f-i+iciligo 	A-  411-Trt Tra t? 

(1)  d0-11q1 Wrdi 3Trk 3Crtri t 

(2)  d0-11q1 war 7(:rk zErzhrr t 

(3) TrIgtz do lIq 1 Wrdi 3Ff i zzrzh* mtimt t I 

(4) Trl-ga 3041q1 kilTaT 3' 	 qcilf t 

10. 1:11-ga* -Ntiti 4.4114R* Tt4tig 	 WarlITH (1+1111 Tr tiq,cll t? 

(1) a.-4-1:rrff tvr 1#ta 	fizrk TT 7-6-r t 

(2) ---41:1Fif k T 	r 3471Tff W 	t I 

(3) .-.41419-14 -kW Thite 	aiTzfiff fizifff 	11.1" -*T r6F t I 

(4) *IF g 'kW a fl• ailzfrff *“T 	f9-zrfai 
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PART-A 

SECTION-II : LOGICAL AND ANALYTICAL REASONING 

Directions (Q.Nos. 11 - 14) : 

Study the following information carefully and answer the questions that follow. 

There are six members M, N, 0, P, Q and R in a family. There are two married couples in 
family ; N is the businessman and father of Q ; R is the grandfather of 0 ; and is a property 
dealer ; P is the grandmother of Q and is a housewife ; 0 is daughter of M ; There are one 
businessman, one property dealer, one lady lecturer and two students in the family. 

11. Who is father in law of M ? 

(1) 	P 	 (2) 	R (3) N (4) 0 

What is the profession of M ? 

(1) 	Housewife 	(2) 	Student (3) Lecturer (4) Property dealer 

Who is sister of Q ? 

(1) 	0 	 (2) 	P ( 3) M (4) N 

Which of the following are two married couples ? 

(1) 	MO and QR 	(2) 	MN and PR (3) PR and OQ (4) MN and QR 

Find the missing number : 

3 	 8 	 9 

7 	10 	4 	24 	6 	5 4 

(1) 	46 	 (2) 	32 (3) 20 (4) 16 

Directions (Q.Nos. 16 - 19) : 

In the following questions a series is being given select from the alternatives the correct term to fill in 

the missing term. 

	

16. 7, 21, 43, 	?  , 111, 157, 211 

(1) 	73 	 (2) 	71 
	

(3) 	75 	 (4) 	77 

12. 

13. 

14. 

15. 
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3 	 8 

7 	10 	4 	6 	5 

	

(1) 46 	 (2) 32 

40 24 

9 

 

4 

(3) 20 

 

 

(4) 	16 

`3.117-3T 

inns - II : nif 	al i  icolc)4uil,44.1., 

fq"-47"(1177 TAW' 11 - 14 ) : 

1:1J-Iror .5(1 vfl'ichR 	62:117 # 	7q'  &kl 	SR-11* dtH 

Ict) 717-47 M, N, 0, P, Q 	0: TrWi t I 71747 	7ff Tel 	t I Ni t.)asa 	ia1*MITQ 
~iT r1dItI R,OT cigit 2TT9Ttral slc-R tl P,Q 	qiclt3-* r.crikull- t1 O,M 	(z1 *1 tlfrITT 
A'7-* oticmitil, f.) 	iktc t) -1:11-01f laacri 72TT 2 "Ntirltil t -  I 

11. M -TTTR7 4-1 t? 

(1) P 	 (2) R 

12. M 	rEiT oticmiq t ? 

(1) Titt 	 (2) Rivitil 

13. Q  	t? 

(1) 0 	 (2) P 

14. fT 41 2 TrftuT 	t? 

(1) MO q,ci QR 	(2) MN PR 

(3) N (4) 0 

(3) mackit (4) 3176 t—d7 

(3) M (4) N 

(3) PR -R-at  OQ (4) MN 74 QR 

15. fq-ILTT 4,(9.411 711c1 	: 

nrqTN : (M. -/ 6feself /6 -19) : 

Fti-irciPsri stql .  7:7 kfch 37W PhH gi i 	rack 	`fluz7 36' 4//0 wY-471 

16. 7, 21, 43, 	? , 111, 157, 211 

(1) 73 	 (2) 71 
	

(3) 75 	 (4) 77 
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17. 6, 24, 60, 114, 186,  ?  

	

(1) 276 	 (2) 290 

18. 7, 13, 21, 31, 43,  ?  

	

(1) 53 	 (2) 55 

19. 3, 15, 35, 63, ? 

	

(1) 69 	 (2) 79 

	

(3) 272 	 (4) 280 

	

(3) 57 	 (4) 59 

	

(3) 89 	 (4) 99 

20. If PUZZLE is coded as LEPUZZ, then MENTAL will be coded as : 

(1) ZZOPEM 	(2) ZENSOM 	(3) ALMENT 
	

(4) MOSNET 

21. If CONFRONTATION is coded as 5931793484693, then TORONTO will be coded as : 

(1) 4797347 	(2) 4393743 	(3) 4898348 	(4) 4979349 

22. Which pair is different in some way from the others in the following ? 

(1) Town - Shandy (2) Village - Mall (3) City - Market (4) Arcade - Shop 

Directions (Q.Nos. 23 to 26) : 

Read the paragraph and answer the questions that follow. 

Geeta, Sita, Promila, Bhavana and Nafisa are five friends. Each one of has six balls : Gita 
gives 3 balls to Nafisa who gives 4 balls to Promila. Bhavana gives 2 balls to Sita who gives 
3 balls to Geeta. Promila gives 4 balls to Bhavana who gives 2 balls each to Nafisa and Geeta. 

23. How many balls does Nafisa have ? 

(1) 	4 	 (2) 	5 (3) 6 (4) 7 

How many balls does Sita have ? 

(1) 	4 	 (2) 	5 (3) 6 (4) 7 

24. 
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17. 6, 24, 60, 114, 186, 

(1) 276 

    

  

(2) 290 (3) 272 	 (4) 280 

(3) 	57 	 (4) 59 

(3) 89 	 (4) 99 

18. 7, 13, 21, 31, 43, ? 

(1) 	53 

 

(2) 55 

19. 3, 15, 35, 63, 

(1) 	69 

 

(2) 79 

20. qk PUZZLE •WF cpd LEPUZZ t t MENTAL T TE 61 	+1T : 

(1) ZZOPEM 	(2) ZENSOM 	(3) ALMENT 
	

(4) MOSNET 

21. CONFRONTATION -WF cpe. 5931793484693 t al TORONTO T cpe. 411 : 

(1) 4797347 	(2) 4393743 	(3) 4898348 	(4) 4979349 

22. 4-I-TIT 	tf f"-*-Tft Bch 	ti 19-N t ? 

(1) 	cM-sii-tt 	(2) 	Ilia - 1-1Tc1 
	

(3) 	•Tr{-Hz 	(4) 

fqtj 	R.Z5E7T23 #26 : 

Ft,411C-Aqo 	(i5qv 	TR -  TR* \ITV 7T--47/ 

4 11c11, 4411, -51-171T, 1Td9T 34T TFTRT 4ic1 P-1,1 t I .51- 	 (6) • 	• t I +1c11 .4 3 	-ithtqf c1.4 
9.1T-4-irAti' --d-rtfwzrk3igi1d1chlttt 7141 -o-r -44;Rr 

fq-Trk 2-2 	 t 

23. •EFITIT     t? 

(1) 	4 	 (2) 	5 
	

(3) 	6 	 (4) 	7 

24. TftaT t 	fWd* 

(1) 	4 	 (2) 	5 
	

(3) 	6 	 (4) 	7 
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25. Who has the minimum number of balls ? 

(1) Bhavana 	(2) Nafisa 
	

(3) Sita 	 (4) Promila 

26. Who has the maximum number of balls ? 

(1) Promila 	(2) Nafisa 
	

(3) Sita 	 (4) Geeta 

Directions (Q.Nos. 27 - 30) : 

Read the paragraph and answer the questions that follow. 

A and B play Cricket and Hockey, B and D play Tennis, A and C play Volley-Ball and 
Tennis, C and D and E play Football. 

27. Who plays Cricket, Hockey and Volley-ball ? 

(1) 	A 	 (2) 	B (3) C (4) D 

Who plays only Football ? 

(1) 	A 	 (2) 	B (3) D (4) E 

Who plays Tennis and Football ? 

(1) 	A 	 (2) 	B (3) C (4) D 

Who plays Volley-ball and Football ? 

(1) 	A 	 (2) 	B (3) C (4) D 

28.  

29.  

30.  
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25. f*-7,1k 1774 	4)4-1 -4k t? 

(1) 	iirdiT 	 (2) 	91:51TIT 
	

(3) 	4idi 	 (4) 	711-1-91 

26. fTTIk   :frqr 	t? 

(1) 	71:1-1--ffr 	(2)'75-11:11 
	

(3) 	,H 	lc1I 	 (4) 	l adi 

Ptj 	74Wr 27 - 30 ) : 

U21T 	Trq 	dtH 

27. 

A7P-TiBt*-ka -cr4e4- 7t1B7RTTD -K91:1-44F1 C72TT 
D 72TT E Td.ssiri 	F 	t I 

or) 	 P-TT "4-M7T t? 

(1) 	A 	 (2) B (3) C (4) D 

28. cfl-r t-q-F Te.qTri 	Tr cfT t? 

(1) 	A 	 (2) B (3) D (4) E 

29. ctl-ftr-i172TT Tdcsiki t ? 

(1) 	A 	 (2) B (3) C (4) D 

30. airiNic-r 721T Tdcski t? 

(1) 	A 	 (2) B (3) C (4) D 
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PART-A 

SECTION - III : EDUCATIONAL AND GENERAL AWARENESS 

31. World Population day is celebrated on : 

(1) 19 July 	(2) 11 July 
	

(3) 15 July 	(4) 	17 July 

32. Gandhiji made a dramatic bid for temple entry rights for untouchables in the year : 

(1) 1940 	 (2) 1935 	 (3) 1930 	 (4) 1920 

33. National Repository of Open Educational Resources (NROER) is being managed by : 

(1) IGNOU 
	

(2) NCERT 

(3) UGC 
	

(4) NUEPA 

34. Who was the Editor of the Revolutionary Paper 'Bande Matram' ? 

(1) Shyamji Krishan Verma 
	

(2) Bhikaji Cama 

(3) V. D. Sarvarkar 
	

(4) G. D. Sarvarkar 

35. How many Nations had signed the charter of United Nations on 26th June 1945 ? 

(1) 	64 	 (2) 	61 
	

(3) 	52 	 (4) 	51 

36. Who among the following has termed Indian Federalism as "Co - Operative Federalism" ? 

(1) K.C. Wheare 	(2) Morris Jones 	(3) Granville Austin (4) Jennings 

37. By which year, the Union Cabinet on June 17, 2015 has proposed to provide 'Housing for 
All' ? 

(1) 2030 	 (2) 2025 	 (3) 2022 	 (4) 2018 

38. Which country topped the Global Innovation index (GIL) 2015 that was released on 
17 Sep, 2015 ? 

(1) Switzerland 
	

(2) United Kingdom 

(3) Sweden 
	

(4) The Netherlands 

39. The United Nations Children's Fund (UNICEF) is head quartered in : 

(1) Paris (France) 
	

(2) Vienna (Austria) 

(3) New York City (USA) 
	

(4) Brussels (Belgium) 
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WPT-3T 

 —III:* 	T *IHI'4 dciii 

31. fa 	i4i s 	i f dti +1-II ~II 'ttctt 

(1) 	19 'ti 	(2) 	11 brit 
	

(3) 	15'r1l 	 (4) 	17 'jrtt 

32. 'i 	c '   	3 f1T ifrig -IIZrn1 iqi 	f (ii: 

(1) 1940 ' 	(2) 1935 	 (3) 1930 
	

(4) 1920 

33. $TI 1T i ilT'-I i J1 ct 	(NROER) i1 	-N r if T T t : 

(1) 	+- 	it 	 (2) 	 RT 

(3) 	 . >xi 	i 	 (4) 	-qt > ii 

34.  

35. 

' l- 

(1) 

(3) 

4.r' -fHct 	5 iI ctgbtt1 

4t4i'11 TUJT aaf 

atmt 

26 , 1945 t f c~ 1 

(1) 64 (2) 

*14t ~ b c4 	l 	? 

	

(2) 	4)c{ ci+.Ii 

	

(4) 	•ft.s•. tl ltatcnt 

ctcttttX11 4U J4 4 W 	1T T rho : 

61 	 (3) 52 
	

(4) 51 

36. fir 	1;4,. 1; " 4TT{ftq  	 gtr „  chit ? 

(1) 	. ck 	(2) 	i.ITftti w1^FI 	(3) 	al ~i`grt 3 lr .1 	(4) 	fi 

37. 17 	, 2015 r k1 	[ i41~t i 	* 	 ci T 	i'il sitcilrad faii ? 

(1) 2030 	 (2) 2025 	 (3) 2022 	 (4) 2018 

38. 17 It1c11- , 2015 	itt1 1c4 -Ic1l ~tt 	1c4,Ic 	(GIL) 2015  	 'MRi r 	ii ? 

(1) '1l 	14 iS 
	

(2) 	s (m+ISH 

(3) 
	

(4) 41gtc~s 

39 	 iic i ci 1 	i ( 	-) 	T 	tcii f T t : 

(1) 	a(tti (M 	i H) 	 (2) fd~~T (3TTft uT) 

(3) 	-1ic 1.t1 	 (31 Rci r) 	 (4) 	k i (d`c 	* i'i) 
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40. Which city is hosting the 2016 Olympic games ? 

(1) Seoul 
	

(2) Barcelona 

(3) Rio - De - Janerio 
	

(4) Los Angeles 

41. The main objective of 'Sakshar Bharat' is : 

(1) to promote 'education for all' 	(2) to promote adult education 

(3 ) 
to promote vocational education (4) to promote education for women 

42. Under which article of the Constitution the President of India has been empowered to 
promulgate ordinance ? 

(1) Article 356 	(2) Article 360 	(3) Article 200 	(4) Article 123 

43. Right to Education Act, 2009 is mainly concerned with : 

(1) Higher Education 	 (2) Elementary Education 

(3) Secondary Education 	 (4) Higher Secondary Education 

44. Who is the author of the Book 'Fundamental Unity of India' ? 

(1) Radhakumud Mukherji 
	

(2) Jawaharlal Nehru 

(3) Rajani Kothari 
	

(4) Max Weber 

45. In which year state reorganisation commission gave its report on the basis of language ? 

(1) 1953 	 (2) 1954 
	

(3) 1955 	 (4) 1956 

46. According to United Nations Report released in July 2015, which of the following countries 
will become the world's most populous country by 2022 ? 

(1) India 	 (2) China 	(3) Pakistan 	(4) Bangladesh 

47. During September 2015, which of the following countries has published first report written 
by a 'robot journalist' ? 

(1) Japan 	(2) China 	(3) Germany 	(4) Switzerland 
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40. 2016 t 31'fFrrcrW @c-1 rcnti 	-4trt t? 

(1) 	f•gzi ci 	 (2) 	-11 

(3)( 'tail 	 (4) 	oiti 

41. `1741T-Wff t  T Itsq 

(1) 4 1:1111't 
	

(2) 114qT4Ti *T. 	 

(3) 	ci-irzMi qcb f4R-ITc\LII 
	

(4) 	-c,113ff 	-taff 

42. kirci1 	qm   aitzffOT 	 ct)t 	3TfT t? 

(1) NM 356 	(2) NM 360 	(3) NM 200 	(4) NM 123 

43. ft4R-TT iii 31fTR aifiTf971,1, 2009 11•Ca1is -tilzif#17 : 

(1) 	d'ccl 	 (2) 7T2Tftrw fwkir 

(3) Ill'affgW #11ATT 	 (4) dccidt 'qibtffgrW -NWT 

44. " (-151+13(1 tLfdt 	 4",FF i : 

(1) VtIrflIq Ti's 
	

(2) 	\11c11 (C11(1 	 

(3) rA-91-  ci;icsi# 
	

(4) trqkii dolt 

45. Wilt 31117 orq 7439-  31147 '4 3-T79T mrcii;s1 	tzfr ? 

(1) 1953 	(2) 1954 	(3) 1955 
	

(4) 1956 

46. Tot 2015'4 Alt Ti-frqff 	q31.  ftttit 3.1717 2022 am fq-Td 14 TigifeTW ■31 -R-Mq1c1 	  tql trm? 

(1) 	i1Tt7 	 (2)  
	

(3) 	TITTRITff 	(4) 	mi+c-ikqi 

47. 1 1-dEIT, 2015 -R-w 	 gRi fffdtl:T f 	f-*71 qi 	510hi  	? 

(1) ANN 	(2)  	 (3) 7rit 	(4) (-c, 
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48. Where did Madam Cama hoist the first tricolour Flag in 1907 ? 

(1) London 	(2) Paris 
	

(3) Moscow 	(4) Stuttgart 

49. Which committee/commission gave its specific recommendations to improve the conditions 
of Teacher Education in India ? 

(1) Hansa Mehta Committee 	(2) Radha Krishnan Commission 

(3) Justice Verma Commission 	(4) National Knowledge Commission 

50. "IEDSS" stands for : 

(1) International Education for Disadvantaged at Social Stage 

(2) Integrated Education for Disabled at Secondary Stage 

(3) Inclusive Education for Disadvantaged at Secondary Stage 

(4) Inclusive Education for Disabled at Secondary Stage 

51. Who among the following shall preside over the joint sitting at two houses of Parliament ? 

(1) President 
	

(2) Prime - Minister 

(3) Chairman of Rajya Sabha 
	

(4) Speaker of Lok Sabha 

52. Which article of the Constitution defines the duties of Chief Minister ? 

(1) 162 
	

(2) 164 	 (3) 165 
	

(4) 167 

53. Light from the Sun reaches earth in : 

(1) 8 minutes 	(2) 2 minutes 
	

(3) 6 minutes 	(4) 4 minutes 

54. Which one of the following was the last step in the Gandhian strategy of Satyagraha ? 

(1) Boy - Cott 	(2) Picketing 
	

(3) Fast 	 (4) Strike 

55. Finances are distributed between the centre and the state on the recommendation of : 

(1) Planning Commission 
	

(2) Public Accounts Committee 

(3) Finance Commission 
	

(4) National Development Council 
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48. 1907 14 A-g1:1•Wri:If 	011( fff-trif cwigt ?.rf ? 

(1) 	ci-qi 
	

(2) 	:1 	 (3) 	14ITZ6 
	

(4) 

49. iTTTff 4 -NIAT-  #T TT 4 TI 	g -F-*7T TifTif-d/31-017 f--41-vrEz 	 Fq 	t? 

(1) 	>7tiI 	c T Trflf-ff 	 (2) 	VNT cpbui-1 31T7  T 

(3) 	fl-zi.gft c 	33ttrf 	 (4) 	71itz 	3171-171 

50. "IEDSS" "W11-49-d k t : 

(1) 

(2) 

•-dtki-fri crt*vri 41.1( r5t-R5c11-3- 	7:1)7 

tell) 	1-1-;k rskic-ks 	tad, st1E'r7 

(3) -7-#79 LIITt rSt-R5011- ,r7 tcf1-5t1 

(4) TLITrq" 7-#"4-F Lhit 	 441-5'a tir7 

51. kikic 

(1) 

Tg-t 	Trq 	31u1 	cr)11 	dT t ? 

tIt s.4 	 (2) 	-51Nr9-gft 

(3) (i.-4R- 1T 31afai 	 (4) 	-F1--*-7:11TT 31RT 

52. tifareTT-irn1 chl-i-Tft NM ii-cargit 	- fl:fft 9.111-Gra• 	t? 

(1) NFT 162 	(2) 	NM 164 	(3) 	NM 165 (4) NM 167 

53. t4 -Ft cich AchlkilTfrdT t? 

(1) 8 11-1-1e. 	 (2) 	2 fq--iz 	(3) 	6f (4) 4 ITTTE 

54. Tilt t-lco-11;11-r-Wf 	31-r---7f 1:g -Ku 24-r ? 

(1) (4) ciFtchR 	(2) 	iFP 	 (3 ) 	wf (-11(.1 

55. cirf 	rchfla->1 ti 1i 	tRtut t? 

(1) *7-9-13471)17 	 (2) 	7i 	Trfizird 

(3) Pal 317h 	 (4) 	770:1 
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PART-A 

SECTION-IV : TEACHING-LEARNING AND THE SCHOOL 

56. Determining the aim of education is the responsibility of : 

(1) Parents 	(2) Teachers 	(3) Students 
	

(4) Society 

57. The schools through its programmes help students to : 

(1) Assimilate culture 
	

(2) Protest culture 

(3) Ignore other cultures 
	

(4) Make them cultured 

58. To make all students interested in home work , it should be : 

(1) Of equal level 	 (2) According to the ability of student 

(3) Only from the book 	 (4) Out of the book 

59. Navodaya schools has been established to : 

(1) Increase number of schools in rural areas 

(2) Provide good education in rural areas 

(3) Complete "Sarva Shiksha Abhiyan" 

(4) Check wastage of education in rural areas 

60. The most important quality of an effective teacher is : 

(1) Deep Knowledge about the subject taught 

(2) A strict disciplinarian 

(3) Good rap port with the students 

(4) A good motivator 

61. The idea of basic education was propounded by : 

(1) Dr. Zakir Hussain 	 (2) Dr. Rajendra Prasad 

(3) Mahatma Gandhi 	 (4) Rabindra Nath Tagore 

62. Individual attention is important in Teaching - learning process because : 

(1) Learners always learn better in group 

(2) Teacher training programmes prescribed it 

(3) It offers better opportunities to teachers to discipline each learner 

(4) Children develop at different rates and learn differently 

B.Ed./ 2017 	 24 



1-T17-3T 

U.S4 	- IV : fPlrarat-ATTPT 

56. •W• ftqATT*3kF4 	ffftthur 	cat: 

(1) 	3TrillIT-40 'TT 	(2) 	alarPTAiTT (3) 	f4R-TTP-iti 	(4) 	.H 4-11 ,3-1 -TT 

57. Fa slicitr31 chi49t4 	Igt114 fqr vrfitt •WTdi t : 

(1) 	Tttzft 	c4 (2) 41 	ci.) 

(3) 	3TP:f 49,114 	cht 	if (4) 3.4 Tizffff 7113:M obt4 

58.  turfit 	I-F*7f 	fir-ci do4,1 etA : 
(1) 	PR *1 (2) fir irf2it 	'4117171 t 31-ITU I 

(4) -aPrW 
(3) 	

t I lit7IT- 	GlIt 741 

59.  rasnotil 	T-21719T cb1 TT t m 
(1) W:57 0-A 	ravicitii 	4tsql 	—djk ta 

(2) Wituf 	31-71#1k.T1 51c1-1 crA k1y I 

(3) TO tkiT 3454719'tc tg I 

(4) 71:111IT 	f4RIT 	37:6:17 t-*-4 tg I 

60. 	-) 3141Tt fit -Tw 	ijura-9-r 	 -goi t : 
(1) 4VV, I atiq   719 

(2) r) TRI aTTITR:IT 

(3) fwklif21-74 t TIM 31-"T 1-bol 

(4) t.) 3T- 1 tcf.) i1-11 

61. "kri:rW fwvr' 	won 	 TFIT : 

(1) tr. q.if-*--{ 	giki I 
	

(2) tf. 	1 giki 

(3) 	4-1 WI-1( Tit gRI 
	

(4) 	Tr--4- 9T2T 	t gikr 

62. #RTET1-3TRITP:( ITT 14 «Arvid wri 	t 	: 
(1) .ftrurPal Trly tOrr 3TT Cdr t 

(2) 3WITITW NPR-TuT cm45t0-4 RI . (-11 ct)i Titir 

(3) T{:1# aTbliTITO gRI 	tVF2.11 	argITftrff mta ITT 3-1•• itt   t 
(4) 1--0-*-'1air fq-*-R4 	q4 tfilcift'at 
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63. If a child writes with his/her left hand and is comfortable doing things with it, she/he should 
be : 

(1) Discouraged 

(2) Made to write with left hand 

(3) Allowed his preference 

(4) Sent to seek medical help 

64. Which of the following statements is true about "Learning" ? 

(1) Errors made by children indicate that no learning has taken place 

(2) Learning is effective in an environment that is emotionally positive and satisfying 
for learners 

(3) Learning is not affected by emotional factors at any stage of learning 

(4) Learning is fundamentally a mental activity 

65. It is advantage of giving home work that students : 

(1) Remain busy at home 

(2) Study at home 

(3) May be checked for their progress 

(4) May develop habit of self study 

66.  A field trip is arranged for : 

(1) Making an excursion (2) See other people doing things 

(3) Note the meaning of action (4) All of the above 

67.  Students are passive in : 

(1) Project method (2) Discovery method 

(3 ) 
Lecture method (4) Inquiry method 

68.  Demonstration effect means : 

(1) Effect of advertisement (2) Imitating effect of consumption 

(3) Effect of entertainment (4) Effect of an experiment 
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63. eik et)li -q.r .11 TzT A f- u-d-r t at 	ti 4 -rq crA 	4 TN t t 74 : 

(1) cilc\LIIFci cm 	if off-R I 

(2) .ii( TzT A Foi.gaili -9-rfR 1 

(3) 317-4 3iT2TFIRWM 	3111:ft .11 If-R1 
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(3) (4) otimill fafq 4 -14 Mq-11c1icil (314q171) fdtIT 

68. 1709 311-Trq W allf t : 

(1) fagrErt 	TrITP (2) 'cRI)IT -4' ttri W.  3P1Tq 

(3) 1-1-1)t\i-11 31ITT4 (4) Mei 11W 3131T4 
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69. Dyslexia is a : 

(1) Physical disability in which the ability to write is affected by dysfunctional fingers 

(2) Form of reading disability linked with weak vision 

(3) Learning difficulty to read fluently and with accurate comprehension despite average 
intelligence 

(4) Language based learning difficulty associated with impaired hearing 

70. If you find a student wearing some odd dress in your class, you will : 

(1) Ask the student not to attend the class 

(2) Make a joke on him 

(3) Counsel him not to wear such clothes in a class 

(4) Not pay any attention 

71. Some students are backward in studies. What will be your attitude towards, them : 

(1) Harsh 	(2) Sympathetic 
	

(3) Liberal 	(4) Lovable 

72. Play therapy is adopted in the study of children in order to : 

(1) Make the educational process joyful 

(2) To understand the inner motives and complexes of children 

(3) Make education more activity centred 

(4) Highlight the importance of play activities in education 

73. The best remedy of the student's problems related with learning is : 

(1) Suggestion for hard work 	(2) Supervised study in library 

(3) Suggestion for private tuition 	(4) Diagnostic teaching 

74. In a democratic country like India, schools should concentrate on : 

(1) Development of traits to face the hurdles of daily life 

(2) Development of traits of a good citizenship 

(3) Preparation for academic excellence 

(4) Inculcation of values cherished by country 
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(3) fq-R-TT 	afw 	 aTrelfra. .1-11 

(4) fvfe. 	a 	 ,iii-ipirtpt 	3s311 1 R cf)t 

73. Tpwrr34 kiq 	TIM t : 

(1) 	t 4rt r t terra 	 (2)Wchroi ffal7fff aTtzFr 

(3) 3rritz 17F --T rgrfq. 	 (4) Figt-ttoia, aitzuwi 

74. 117ff 	(i)cbdikich 	 f4ZITat 	tZfrff 	 frR : 

(1) rr*ITrff 7149.14 chrd-IIR 	cm;  	racnikid ct.A -14 

(2) icr.) 3T.-  114  Oct) 	TAT rcichrthl clA 

(3) if-TW TrIT 	Azfift crA 

(4) 	 gill tetra' farw qr facer# 
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75. It can safely be assumed that a student understands a principle when He/She can : 

(1) Give more examples of it 

(2) Use it in solving problems to which it applies 

(3) Recognise it again when He/She encounters it again 

(4) Recall the principles as and when asked 

76. Despite of your requests as an incharge of time table in the school, A teacher always comes 
late. In this situation, you will : 

(1) Insult him in the presence of other teachers 

(2) Advise him to come in time 

(3) Report to the principal 

(4) Remain indifferent to it 

77. Every learner is unique means that : 

(1) No two learners are alike in their abilities, interests and talents 

(2) Learners do not have any common qualities, nor do they share common goals 

(3) A common curriculum for all learners is not possible 

(4) It is impossible to develop the potentials of learners in a heterogeneous class 

78. The in - service teacher training can be made more effective by : 

(1) Using training package which is well prepared in advance 

(2) Making it residential programme 

(3) Using co-operative approach 

(4) Practicing training follow - up procedures 

79. In NCTE - the B.Ed curriculum frame work -2014 which of the following is emphasised 
	 in education. 

(1) IT (Information Technology) 

(2) ICT (Information and Communication Technology) 

(3) ET (Educational Technology) 

(4) CT (Communication Technology) 

80. How many senses a person uses while watching a film ? 

(2) 	2 	 (3) 	3 
	

(4) 	4 
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75. TIT TCrEE 	 t 	\ich -turzilf-i-zrrr 	t 	 
(1) 7{:rk aft-{ dqui ' 	 

(2) 1,5-1-1TITRza-ff 	 .-*-T 3trzfFf tf 	t 3 ri 3-ciTh-rf i I 

(3) LIN 	ftRA- 	T t I 

(4) Asf TOT 717 	 Ii cht TIM I 

76. 34Tcrk Tfifzi TeTtrft* chi4clich 	t -9-rt 3Trcrk gRi f 	f7RTT. 71qTr 	37-dr t 
fT-P-Tr-d 3711 w4it: 

(1) 3TP:rr 	-cr[7:4fu -qt9-rrft m7-14 l 

(2) 3-11-4 	TR11:10 411 I 

(3) 7NNTW1*• Ttf7ff '1I 

(4) 3Tr1 	 

77. 4.51 -f7Tur241 	33-Fr 3Ttur t' 1 3T2t t : 

(1) fqR-Tr241 3179-1 -trzr-d-r, (4=4 at1T quifif Q,ch 	-11. 1 

(2) NR-T1Dizti 	.1171T9' qui 	t, 	t 	t1 1-11-1 . 7 TIFF 	c 	! 

(3) TrIft f7furNit* 	 t 
(4) 	fwgdr arm? 	 fwurr21-7:4rn13rfa4Tr31 	3TTOrq ti 

78. 	 *To-Tr-41.1in .qr 	 t  
	

5,1t1 

(1) Tic 	 tzTR -rwqr 	III Trftrwr 	watTr 

(2) 	ft-azTqft 4,14;4,44 .1-11 

(3) TiterflT1- 	aTEFT .*7 I 

(4) * 3-1-1-449 	9hqIchoi4 371-9T cm I 

79. 	 4ics-496 4-1 	tt\t-R(Ai 2014 if 	1 4-Ircirtgcl if -4 f*-7" TIT clo rqql 4 11It : 

(1) 31tt. (T•T 	 

(2) 3.-ITI.Tft.t. 	*TftEfur ash-i14)1) 

(3) (*NI*.  cich-ileh1) 

(4) Tilt. (TftiErcrf nab-iloh1) 

	

80. ftvoi.  kt7- • TfiRT .) H l 1 	a f fr- gw -cp*r•wT-d-rt? 
(1) 	1 	 (2) 	2 	 (3) 	3 

	
(4) 	4 
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PART-B 

SECTION-V (i) : SCIENCE 

81. According to laws of refracation (i = Angle of incidence, r = Angle of refraction) : 

(1) —
i 

= constant 
r 

(2) 
sini 
	 = constt 
sinr 

(3) sini = sinr 	 (4) i and r are not related 

82. For photosynthesis, the green plant needs : 

(1) CO2 	 (2) light 
	

(3) chlorophyll 	(4) All of these 

83. In aquatic plant Hydrilla, stomata are : 

(1) Present on leaves 
	 (2) Present on stem 

(3) Present on roots 
	 (4) Absent 

84. Convex mirror can from : 

(1) Only real image 

(2) Only virtual image 

(3) Both real as well as virtual images 

(4) Only magnified images 

85. The unit of Pressure is : 

(1) Newton 	 (2) Newton per sq.m 

(3) Per sq.m 	 (4) Joule 

86. Polio is : 

(1) Food borne disease 
	 (2) Water borne disease 

(3) Air borne disease 
	 (4) None of the above 

87. Two wires A and B are made of the same metal and are of equal lengths but their diameters 
are in the ratio 1 : 2. Their resistances RA  and RB  have the ratio : 

(1) 	1 : 4 	 (2) 	1 : 2 
	

(3) 	2 : 1 	 (4) 	4 : 1 
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igus - V (1): Novi 

81. 317449 fiz11:1 3T1W{ (i =37719 . c UI , r= 1trq-49 uf) : 

sini  (1) - = 	#2.17fT 	 (2) 	 = 	#217fw r 	 sinr 

(3 ) sini = sinr 
	

(4) icr4 r 311-9T1 ticirtM 	t 

82. 	UchRI kiqtluf c L ct 	1:11 	-1 1-1 	311d71WaT Z111 t : 

(1) 	CO2 	 (2) 	Mcblql 	 (3) 	grll tl1960 
	

(4) 31:144ff Tfift 

83. 7 -47f 111' INclf 	T : 

(1) trf-lt -crtilat 
	

(2) 'ff4 ITT 	 

(3) 	NI SI -7 #2.1-ff t 
	

(4) 	31ffiT-2Tff Z.14 t 

84. 671(1 q uf glki 	TFW t : 

(1) t4-0.  alt-c-1 act) 	I cti-ci 

(2) 31TITR# 	FORI4-ai 

(3) iR-ci 	-crq 	 Ychlt 

(4) 34Tqf'41 GP -4 

85. 

( 1) '107 
	

(2) 'PF-9' 	+-1 dk 

(3) 	 i-iidk 
	

(4) 	 

86. cichql (Polio) t : 

(1) 11)79 14 th-ff4 	trrt 
	

(2) ,710144 	*It 

(3) alb 	cc t1:11# 
	

(4) 374-4TF 

87. t 	A cNTB 	 #1. .2TT -) 71-ffiftk t Lit-q d-14, «4R4 1 : 2 t affIrd Al I d-I 
-51f-d-W RA  'ffv-TT RB A' Ti -4N .) 1 11: 

(1) 	1 : 4 	 (2) 	1 : 2 	 (3) 	2 : 1 	 (4) 	4 : 1 
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88. According to Einstein the Energy (E) Mass (M) and Velocity of light (C) are related by the 

equation : 

(1) E=MxC 	(2) E MC2 	(3) E = M + C2 	(4) E+M=C 

89. Plant cell can do : 

(1) Breathing and Respiration 	(2) Respiration and Photosynthesis 

(3) Breathing and Photosynthesis 	(4) All of these 

90. The wave length of X - rays is smaller than that of visible light and : 

(1) Its speed is more than that of visible light 

(2) Its frequency is more than that of visible light 

(3) Its speed is less than that of visible light 

(4) Its frequency is less than that of visible light 

91. The two colours seen at the extreme ends of the pH chart are : 

(1) Red and Blue (2) Red and Green (3) Green and blue (4) Yellow and green 

92. HIV is a : 

(1) Disease 	(2) Vaccine (3) Virus 	 (4) Injection 

93. A body is weighed in several liquids of relative densities 1.1 , 1.2, 1.3 and 1.4. Its weight will 
be the least in the liquid of relative density : 

(1) 	1.1 	 (2) 	1.2 	 (3) 	1.3 	 (4) 	1.4 

94. A concave lens produces : 

(1) Virtual image 
	

(2) Diminished image 

( 3) Erect image 
	

(4) All of these 

95. When two wires of resistances 2 Ohms and 1 Ohm respectively are joined in parallel, their 
equivalent resistance is : 

(1) < 1 Ohm 	(2) 1 Ohm 	(3) 2 Ohm 	(4) > 2 Ohm 
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x— 

(1) 

fu1 ."TrksEf 5 q mcniql "A" 114 

.ict.)1 *Tr iker mctoi * 1-r 	tqt t 

(2) PT4-  air* Ike{ uctoi aTT* 74 	t 

(3)  Tc 	q Mchlql Trft 	r t 

(4) W4" 3Tred sqcr aTreff 	Wrf t 

90. t 	: 

88. 31T-47:09- "ka1 r{ d)‘711 (E), *ft (M)   A7r (C) F-1 1-1 i:t4q t : 

(1) E=MxC 	(2) E = MC2 	(3) E=M+ C2 	(4) E+M=C 

89. ttff 	ct) PictA 	: 

(1) 	c.-11 (Breathing) .ffP-1T qgkil 	(2) 	kcR1-1 .74 Mchlkl 	 

(3) tiThrl 	ii mcbrqi -iqc.)aur 	(4) 4cr1:14 

91. pH ft* alfa-14 M -ku4 air) trr : 

(1) rim 74 	(2) cirri 74 T 	(3) 7T .74 	(4) 4 	oi 74 7T 

92. HIV t : 

(1) 7W tfft 
	

(2) 7W d 	cm 
	

(3) f4719 	(4) 	ict) t-44779‘ 

93. Tw 	f cni rd'r  	t fqffkaTrErkiw 	 911 4-1q1: 1.1, 1.2, 1.3 74 1.4 tI WW1 W fffIR 
aTrIrvw 	fltsii).    : 
(1) 	1.1 	 (2) 	1.2 

94. 7w 3T-4-09c ki fF1 mct)R -km mi." 	 .1-1101t : 

(1) 	3Tril-rt mr01.14-.1 	 (2) 	dr urcircii-zi 

(3) 	7:11-NT 	cri-cf 	 (4) 	3TRIWT TT* uchit 	miCtics+-cr 

95. ifs 2 Ohm"-1T 1 Ohm. -5rthtfti air) t T.{ 	Wrr ,I1)§ 1 	,3-114t 	311dtreT 'II : 
(1) < 1 Ohm 	(2) 1 Ohm 	(3) 2 Ohm 	(4) > 2 Ohm 

(3) 	1.3 	 (4) 	1.4 
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96. If red litmus is added to acetic acid solution : 

(1) It changes to green 	 (2) It becomes blue 

(3) It remains red 	 (4) It becomes colourless 

97. Ultimate main source of energy on the earth is : 

(1) Coal 	 (2) Fossil oil 
	

(3) Sun 	 (4) Air 

98. The Commercial unit of electric energy is : 

(1) Horse Power 	(2) Kilo Watt Hour (3) Joule 	 (4) Watt hour 

99. Destruction of forests have resulted in : 

(1) Shortage of Rain 

(2) Shortage of Natural Resources 

(3) Danger to the lives of wild animals and birds 

(4) All of the above 

100. Use of Chlorofluorocarbons : 

(1) Strengthnes Ozone layer in the atmosphere 

(2) Depletes Ozone layer 

(3) Does not affect ozone layer 

(4) Is not a harmful 
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96. -411kQ1 	1 tzTR:rifTrra-w -R-rTm-.74- 	t 

(1) Tg7Tt w--4Trr 	 (2) zff -,1Cfit 

(3) 	oic-1#71i 	 (4) zig" 4 	tt7TOTT 

97. 71-1 d1‘311T 3af rq4seifit : 

(1) --1791r 	 (2) *-074:1tO• 	(3) 114 
	

(4) all 

98. "Fq70 T7f 	0441414cl, r*-it t 

(1) ti# 4tgt 	(2) "r*- -cite.-'4aT 	(3) 1c4 
	

(4) 1T 

99. 	tTc TtifturRpIT t : 

(1) Itif 	*41 

(2) pit A 	a,4l 

(3) TATT4 	44,d 

(4) 37171W11:11' 

100. cto)4 tici chl 	r•T:1747T : 

(1) elleAHuri -14 at—A)7 1:147. 	ch4of t 

(2) alitq 4to 	t 

(3) 3-1•17AYi cRo 	 ch(di 

(4) 101-1';ieich 	t 
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J441 	J225 	64  
105. The value of is :x 

3 	5 x  V256 

(1) 	21 	 (2) 	28 

6 
106. The value of 

3 66 
is : 

(1) 	6 	 (2) 	36 

PART-B 

SECTION-V (ii) : MATHEMATICS 

101. The Value of sin60'cos30° + sin30'cos60° is : 

(2) 	1 (3) 	— 1 	 (4) 2 

102. The value of 9 sec 2A — 9 tan2A is : 

(1) 	0 
	

(2) 	1 	 (3) 	8 
	

(4) 	9 

103. From the top of a 7 m high building, the angle of elevation of the top of a cable tower is 60° 
and angle of depression of its foot is 45°. The height of tower is : 

(1) 	+ 1 )m 
	(2) 	— 1)m 	(3) 	— 1)m 	(4) 7(J + 1)m 

104. The sum of odd numbers between 0 and 50 is : 

(1) 425 	 (2) 525 

	

(3) 625 	 (4) 725 

	

(3) 48 	 (4) 84 

	

(3) 216 	 (4) 18 

107. A jar contains 24 marbles, Some are green and others are blue. If a marble is drawn at 

random from the jar, that the probability that it is green is . The number of blue marbles in 

the jar is : 

(1) 4 	 (2) 6 	 (3) 	8 	 (4) 10 
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1TIT—W 

1317g - V (11) : 	! Nil 

101. sin60'cos30° +sin3O'cos60° 	If : 

102. 9 sec2A— 9 tan2A fwiri 	 : 

(1) 	0 	 (2) 	1 

(3) 	— 1 	 (4) 2 

(3) 	8 	 (4) 	9 

(2) 	1 

103. 	r) 7111 	 71:1f7d 	ki 	V. 	 dicit 	•WF eblut 600 * 11T 7TrkaM -WI T*7-4 ch-luf 45° 
*1 diciti-q.OzTft? 

(1) 	+ 1)*. 	(2) 	5(-f§ — 1) .1:11 	(3) 	— 	(4) 	+ 1) 1:11-. 

104. 01450 t 	t" 	at4 	71'11-1 411 : 

(1) 425 	 (2) 525 

V225 	64  
105. 1:fri t : 

3 	5 	V256 

(1) 21 	 (2) 28 

6Y3  x  3 67 
106. 	 WFTFR t : 

3 66 

(1) 6 	 (2) 36 

	

(3) 625 	 (4) 725 

	

(3) 48 	 (4) 84 

	

(3) 216 	 (4) 	18 

107. 7W.  WiT X124 tt9' 	t I vs■ 	at( *ti* -11c; I q 	 gisRroch W:114 'cr-W chv vir wig t{ aid 
TNTEardT —

2 
t, 	 -11( cird ? 

3 

(1) 4 	 (2) 	6 (3) 	8 	 (4) 	10 
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108. A die is thrown twice. The probability that 5 will come up at least one would be 

	

25 	 11 

	

(1) —36 	 (2) .T6  
31 	5 

36 

10 
(4) 	36  

109. Sides of two similar triangles are in the ratio 4 : 9. Areas of these triangles would be in the 

ratio 	  

(1) 	2 : 3 	 (2) 	4 : 9 
	

(3) 	81 : 16 	(4) 	16 : 81 

110. The wheels of a car are of diameter 80 cm each. The car runs at a speed of 66 km per hour for 
10 minutes. The number of complete revolutions made by each wheel is 	 

(1) 2640 	 (2) 3960 
	

(3) 4375 	 (4) 4875 

111. Metallic spheres of radii 6 cm, 8 cm and 10 cm, respectively, are melted to form a single solid 

sphere the radius of this sphere would be 	 

(1) 8 cm 	 (2) 12 cm 
	(3) 14 cm 	(4) 16 cm 

112. The curved surface area of a right circular cylinder of height 14 cm is 88 cm 2. The diameter 

of the base of cylinder is : 

(1) 4 cm 	 (2) 3 cm 
	

(3) 2 cm 	 (4) 1 cm 

113. A train which is 500 meter long crosses a 800 meter long platform in one minute five seconds. 

The speed of the train is 	 

(1) 55 km/hr 	(2) 65 km/hr 	(3) 70 km/hr 	(4) 72 km/hr 

114. The ratio of fathers age to his son's age is 7 : 3. The product of their ages is 756. The ratio of 

their ages after 6 years will be 	 

(1) 	2 : 1 	 (2) 	5 : 2 	 (3) 	11 : 7 	 (4) 	13 : 9 
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108. • w yikiitart 41chf 71741 --14W1:1 - R w q'TT 5 ( -49) 3-74 	Ti`ITT&MT t : 

25 	 11 	 5 	 10 
36 

(1) 	--- 	 (2) 	--ki 	 (3) 
36 	

(4) 	-i ,  

109. 'f ki+-111 fli0 4 -m3ti 3-gO 4 : 9 t I q1-I .  fqTA'f * #-IrFA aTTEM il4ii : 

(1) 	2 : 3 	 (2) 	4 : 9 	 (3) 	81 : 16 	(4) 	16 : 81 

110. 7T. 	*114W 1TFR ' -T cem-f 80 At. t I chR 10 1-1 -id -ffT 66 'kit SIf-i 1;tZT . 1- 	-# 	)1d1 tl 
'11-  llfg7 7.{T rviiqT17 -4Eht 	4tsqf ilin ? 

(1) 2640 	 (2) 3960 
	

(3) 4375 	 (4) 4875 

111. 6 *Ct., 8 tf.Tft. RTT 10 14.111. tlwfT ciic) tTlfffW + 1x11 ''). FlticlIcht t.) .6'41 4 1 ON 0111 411 771T t 
f1Wrii1 	4 11 : 

(1) 8 Alt 	(2) 12 t.t. (3) 14 AT:II 	(4) 16 tf.t. 

112. 14 A.*. tt.-4T" cfic. 1 1 OIChlk tql -f .-T ci9hI4,lt tRT-d 	.-ItM 88 l'i tr.t. t 17 	cil *34reiRW oellq 
tiTTI: 

(1) 	4 i4.1ft. 	(2) 	3 tf.1:11-. 	(3) 	2 "A.*. 	(4) 	1 tf:141. 

113. 500*. cii-si • R w 	ciiiiil, 800 Ift. 71ir 7)-ath-114 )-1. fcf. 5 tf. 14 trrt TT-d1 t 1 X041141 ••1‘ Trfu t : 

(1) 55 fW.Tft./ 11. 	(2) 	65 ft. ./Iii. 	(3) 	70 ft.t./"Ei. 	(4) 	72 ft. ./14. 

114. tior-Ti 	aTroi W arfirff 7 : 3 t I 3-i-4-  39 --i- qul-r-ho 756 t I 6 .44 cilq 3-4-4* al% Tr afIrfiff 
ildii : 

(1) 	2 : 1 	 (2) 	5 : 2 
	

(3) 	11 : 7 	(4) 	13 : 9 
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115. Two numbers are in the ratio of 7 : 4. If 12 is added to the smaller number, The ratio becomes 

7 : 5, the bigger number is 

(1) 	77 	 (2) 	84 
	

(3) 	91 	 (4) 	98 

116. In order to pass an examination, a minimum of 33% marks are required. A candidate 
obtaining 210 marks fails by 21 marks. The total marks for examination was 	 

(1) 	700 
	

(2) 	600 	 (3) 	550 	 (4) 	500 

117. A shopkeeper has marked selling price 20% above the cost price and allows some discount to 

the customers, the -profit he earns is 8%. The rate of discount is 

(1) 5 % 	 (2) 6% 
	

(3) 10% 	 (4) 12% 

118. A conical tent 14 meter in diameter and 4.5 meter high is to be eracted with lateral side 

6 meter in length the cloth required will be 	 

(1) 108 rn2 	(2) 132 m2 
	

(3) 224 m2 	(4) 264 m2  

119. Two sides of triangle are 8 cm and 11 cm and the perimeter is 32 cm. Its area is 

(1) 	3/.16 cat2 	(2) 	5,1-4 cm2 	(3) 	8.J30 cm2 
	

(4) 50 cm2  

120. The length of a tangent from a point A at a distance of 5 cm from the center of the circle is 

4 cm. The radius of the circle is 

(1) 2 cm 	 (2) 3 cm 	 (3) 4 cm 	 (4) 4.5 cm 
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115.tal-W7:4t3T-10014t1 41q -0-)3-fW 12 ,Tils1 ARt 31-1117 7:5t 	t 045 	 : 

(1) 	77 	 (2) 	84 
	

(3) 	91 	 (4) 	98 

116. f*-1:ft TRIATT 	ztuf cbk 	•L-9-dli 33% 3-1-W 	I 	t) f-4E1T2,111 210 `H 	3 	21  3  
31-18-1-0 Trzrr  

(1) 700 	 (2) 600 
	

(3) 550 	 (4) 500 

117. schfrigit f-*-74 	 9nq 11- ftf 20% 3-Tf4T ktgi •2TT 1J7T '")• 	q\e. mqi-t 
4iFq A 8% •MM p-TT t q,d 	t 	  

(1) 5% 	 (2) 6% 
	

(3) 10% 	 (4) 12% 

118. .) qicicuctlit 	T otiR-1 14 -1:ft. 'ffqf d.) -c414 4.5 17. t 3 	4i 	c1 	 6 1:ft. t I 	t ̀rid 3-1T-4Ffw 

	

(1) 	108 •Tf 1:11 	(2) 	132 '1"f 	(3) 	224 a+ Tff. 	(4) 	264 "1"f 

119. kict) 	tT-AT1 8 At.'2,TT 11 	t, 3 	7132 	 ? 

	

(1) 	3,/,0 if t.t. (2) 	5,r4g'4. 1:11 .. (3) 	8 30 .qlf -4.171. (4) 	50 

120. 1.) 	t -q t 5 74.t. ft -2m 	(45 fq-1 A t cIf 4 Al:ft. t I cp 	t: 

	

(1) 2 tf.t. 	(2) 3 At. 	(3) 4 tf.t. 	(4) 4.5 At. 
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PART-B 

SECTION-V (iii) : SOCIAL SCIENCE 

121.  

122.  

Who was the last ruler of Sayyid Dynasty ? 

(1) 	Mubarak Shah 	 (2) 	Muhammad Shah 

(3) 	Amir Khusrau 	 (4) 	Alam Shah 

Which Article of the constitution abolishes untouchability ? 

(1) 	Article 16 	(2) 	Article 22 	(3) 	Article 29 (4) Article 17 

123.  What is the deepest point on the earth ? 

(1) 	Java Trench 	(2) 	Puerto Rice 	(3) 	Mariana Trench (4) Lipke deep 

124, What is the currency of Malaysia ? 

(1) 	Dollar 	(2) 	Pesco 	 (3) 	Ringgit (4) Baht 

125.  Who wrote the play Malavikagni mitra ? 

(1) 	Vishakhadutta 	(2) 	Kalidasa 	(3) 	Kanishka (4) Harisena 

126.  Who established the regional party Shiv Sena ? 

(1) 	Devendra Fadnavis 	 (2) 	Bal Thackeray 

(3) 	Sharad Yadav 	 (4) 	Sushil Kumar Modi 

127.  Which country came under the influence of the Hudhud Cyclone ? 

(1) 	Indonesia 	(2) 	Singapore 	(3) 	Malaysia (4) India 

128.  Who is the Chairman of the Niti Ayog of India ? 

(1) 	President 	(2) 	Vice President 	(3) 	Prime minister (4) Finance minister 

129.  Which of the following taxes is a progressive tax ? 

(1) 	Income tax 	(2) 	Custom tax 	(3) 	Sales tax (4) Capital Gains tax 

130.  What is the currency of Bhutan ? 

(1) 	Rupee 	(2) 	Dinar 	(3) 	Taka (4) Ngultrum 
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tgus - V (m) : 	Act) fd7R 

121. tzEg*rf 'TT alfall . 	Ilf-11) 4-1 4T? 

(1) 	11-4RT 	 (2) 	*:Trq 

(3) 	317:117 Tjtf 	 (4) 	331714 

122. 3197z71" 	TrgrriTr 	 114trri 14 41 Trr 31rft 	t? 
(1) 	3TTitT" 	16 	(2) 	31TilTh7.  22 	(3) 	31TFM-9 29 (4) ailftWa 17 

123. TI2zil• TTY kit:4 	fl 	GIS Ch '1-77 t? 

(4) (1) 	,711 011 	 (2) 	yi 	fl*fl 	(3) 	134T9T ,•-cl f 0114 

124. H 	 'qzTT t? 

(4) %Ira (1) 	shit 	 (2) 	tt:W1 	 (3) 	R.-Ad 

(4) et491 

125. -ne.a.) 	 -F-*-qk 51(1 fffur TR? 

(1) 	FoRllegIcll 	(2) 	cbirilqm 	(3) 	cbr-tbili 

126. 044 	̀Niof 	pztr-ir f*-Trk gRI 	? 
(1) td4 	UIalN 	 (2) 	tslio aT 

(3)  	 (4)7j711" 1-147 

127. §qgq 19baici tf c41-TIT tqT 1313-TTF-4-ff 31T -ii ? 

(1) 	 (2) 	ft:1797 	 (3) 	4-1c)P1 441 	(4) 	zIT (1T(7) 

128. W"{"ff 14 r-irci 31T*IT*3TaRT 4i  t? 

(1) 	tit.(41i 	 (2) 	37 774fff 	(3) 	TitTri i. 	1 	(4) 	fate 	1 1 

129. r-v-ireirigil4  	civ 	t? 

(1) 	3Trzr*-7 	 (2) 	 1- 	1 	(3) fq -A• 	 (4) 	Tsi 

130. Vrff 	qqi ch1-7-11 t? 

(1) 	to-itii 	 (2) 	fc 	iR 	 (3) 	d111 	 (4) 	lqcte,i-i 
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131. Who wrote the famous Tamil literary work Kalingattuparani ? 

(1) Kalladanar 	 (2) Amarbhujanga 

(3) Gangaikanda 	 (4) Jayagondan 

132. Who wrote the Famous work Surya Siddhanta ? 

(1) Varahamihira 	 (2) Aryabhatta 

(3) Vriddha - Vagabhatta 	 (4) Meghaduta 

133. How much is the security deposit for Lok Sabha election? 

(1) 	25,000 	(2) 	50,000 	(3) 	10,000 (4) 	5,000 

134. Who was the First Female President of Indian National Congress ? 

(1) Sarojini Naidu 	 (2) Indira Gandhi 

(3) Pratibha Patil 	 (4) Rajkumari Amrit Kaur 

135. Who is the present governor of the Reserve Bank of India ? 

(1) Raghuram Rajan 	 (2) Manmahon Singh 

(3) Arun Jetly 	 (4) Rajnath Singh 

136. Which gas was released during the Bhopal Gas Tragedy ? 

(1) Methane 	 (2) Methyl Isocyanate 

(3) Acetylene 	 (4) Ammonia 

137. When was IGNOU established ? 

(1) 1971 	 (2) 1977 
	

(3) 1985 	 (4) 1989 

138. Through which ocean is most of the world trade carried out. 

(1) Pacific Ocean 
	

(2) Arctic Ocean 

(3) Atlantic Ocean 
	

(4) Indian Ocean 

139. Which is the third largest country in the world ? 

(1) Canada 	 (2) United States of America 

(3) China 	 (4) Brazil 

140. Which certificate indicates a guarantee of quality for agricultural food products like ghee, 
honey, etc. ? 

(1) ISI 	 (2) Agmark 	(3) BIS 	(4) DPT 
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175. 3T-jrrfr-4-d qicq f—*-Ti.-7m-3-f -*-T ma 4 i p-11' t? 

( 1 ) 	3-1- 	 (2) 
	3T 	(3) 	3T 	 (4) 	31-ff 

176. dtui au 	: 

(1) 	-a, 3, V-, V 	(2) 	T, 7,  1, 	(3) 	IT, 	'4, 'IT 	(4) 

177. `3141 lfit 733 Fri 	frh7-9T' IWO 	3-TO t : 

(1) 	*14 cnkil 	 (2) 	q1 , 111(1 -5r-qt 
(3) 	41-1 4-1141  	 (4) 	d kcsc-iittu 

178.Trk-dn- : 
(1) 	 TN 
	

(2) -#4 Tifq 
	

(3) TM Tifq 	(4) qui Tifq 

179. 3-1-977-gT t : 

(1) 	31-14wt-ur -ff—oFtr 
	

(2) 	34141-79' -3-0:171 

(3) 	7:111-41' 
	

(4) 	4MqI-1Te:171 

180. "037 	 -airf cfliacf 	3E t : 

(1) f f Std ogricf gRI 3T ce4c R 4T TR7fi alt-n 

(2) -0311 	t 

(3) 7:134 cara-ci 	,41rilci, miT -51-0•9' 

(4) 3-1— -* --1' 1)'" 

- o 0 o - 
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147.  (1) Hygeine (2) Higeine (3) Hygiene (4) Hygien 

148.  (1) Harrassment (2) Harasment (3) Harrasment (4) Harassment 

149.  (1) Spontanity (2) Spontaneity (3) Spontaniety (4) Sponteneity 

150. (1) Museam (2) Muzeum (3) Museum (4) Musium 

Directions (Q.Nos. 151 -154) : 

Choose the word which is opposite in meaning to the underlined word. 

151. The culprit acknowledged his guilt. 

(1) 	Accepted 	(2) 	Avoided 	(3) 	Repulsed (4) Denied 

152.  Though an amateur , he is a first class player. 

(1) 	Renowned 	(2) 	Seasoned 	(3) 	Professional (4) Mature 

153. The initial estimate of the project was very high. 

(1) 	Final 	 (2) 	Full 	 (3) 	Total (4) Rough 

154. She found his behaviour towards her distinctly hostile . 

(1) 	Graceful 	(2) 	Friendly 	(3) 	Cheerful (4) Sweet 
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Directions (Q.Nos. 155 and 156) : 

Select the word in each group which does not properly belong to it. 

155. (1) Conspicuous 	(2) Conscript 	(3) Clear 	 (4) Visible 

156. (1) Perfection 	(2) Reflection 	(3) Inspection 	(4) Retrospection 

Directions (Q.Nos. 157 -160) : 

Pick out the most appropriate word from the given alternatives to fill in the blank to complete the 

sentence. 

157. We 	 trouble on our borders. 

(1) Comprehend (2) Apprehend 	(3) Supplement 	(4) Complement 

158. The police 	 the mob. 

(1) Scattered 	(2) Disbanded 	(3) Drove 	(4) Dispersed 

159. His tutor went 	 endless trouble to prepare him 	 the test. 

(1) over : before 	(2) over : against 	(3) through : in 	(4) through : for 

160. He went 	the room and sat down 	 the sofa. 

(1) to : in 
	

(2) into : on 	(3) from : upto 	(4) in : on 
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VT1T—W 

tguS—v (v) : 	 

l';41 ( 3777 	7T 161 # 165 ) : 

Pfi--/Wigri 7Mfql. 621-RWW (15cht 	37TV7 VT 0 7-4 WI .  dtV er-q#/ 

"T-TrT rztfl 3ra-T21-r tr, zTr*ar-4- 	*1 -4791-  317111- 14 147 	t I 	• 
fq-Crt 	f,14 	 ifTvEf 1 (47 .5fred•W qict t at .  tfrf d-1111 3C.1, 74# c1 4, 

4-111R-Ich TERZEftl;Tred"W cfllt *TT 	-ffP-rf AtWfITTPZ .4 d41. 	TfItZ 	 
3174 tfrf tf TIVZ 	 tsar" \;14 	-rWt r-arct, 	CRIlkl 4 WI t1 	t- 	%ft 	fl:FT tad f~ 
f*7:11. atsaTcrt chlizI)R11 -1( 7 1*-*--*7 afq*. 3T 	r 	I 	tgr 	 -zt7 -7-- 1 
,01 Trra .4>k 	4,0 TrR4 	 * ce4itsbill 	t 3T1tTrrrte:r*r awr -Ef cr,k 

fgt. ,HR'l 	 P.AqR1 tgrt 	 Ala ut t I .14 	 
Th:f ---fqf-dt, 	cniizilRqt cbir TIWth t ? trzr 	alwitrr* 	t 	tilt1*137 .ftzir 	14-49 

-ftro-4. 	1-F-Em 11)---49 * -frm4 tr -47 	t cboichR 4-144 	31-10 7m-. 	t 	/)-Tr 
dbun I 3.1c4)1 	 t.) -Ttk-d. 	ok$ 	3T  -T 	td" t 	+-11t1 3t:c1T01 Hcb11 c1 	A1c11 
tl 1:17 -44 -a-T choichit tag 	 9chcbt 1W1 	* -a-Tr-4-  alifgrr   ftfff tf HoniPid 	1,  c4 

Nchiki 41(. 	tirnal t? 

161. 374-*T Trtft TWIT{ kgi-W TITU-*-1 	t? 

(1) -51-A•W 4-qbq 	ct74-kilRql" 	(2) -51- :)•W Hqbq 	33-gt 

(3) 	klIrtcf.) TERZEI 	 (4) 71-49' t:F 

162. 3-1-1147 	ri-trra ctA, otfitsql-I 	as 3th TrTFOT r 3Tt7Fri c4 'Wr 3[1:jU 7704 aLll t? 
(1) f9-41-ur Trrr-RT 	 (2) Mt- 	-*73T r -9171.  
(3) 	chti-H4 	 (4) 	49-4R t4 11.11 

163. imiqi*argIR 	40-1 ■11 	obRul Wt? 

(1) 	*-r/7 3 	 (2)r1(1T alNYT 11 
(3) 17f9 **ma*  	(4) -37-14T1 474 bbli 

164. 171R alralif-MW 1471 WT 

(1) 	-51/4 	 (2) 	VI at di-it:IR-I 

(3) 	{ 
	

(4) 	51111 t1-11 	-11111 
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165. "tqT 	 chotqw 	4 1 Trrcff 	t? 

ft-4FT 

(1) 	1-1-N\71-1 	 (2) 31-1 , 1 3fR 3 T9 

41---4 	3T-Tift 34-( 1)1:1•TI• dwicif 
(3) 	31f11-97:1 	c T 	 (4) 

(T/FT 7T1547 166 - 180 ) : 

Cld 	31.?-f 	-1,t - rail fTFT 1 	77# Tre. 	W.Fir  V777 

166.  311 	T cic-■41 4-1 	1(s4 t : 

(1) 	3-1--- 31T 	(2) 	3-1* (3) 3-W4 (4) 311-T 

167.  m cia17 14 f-1 4-1R-1t : 

(1) 	31--64t31-ra 	(2) 	ch 	NR--04 (3) ---0P-11  (4) g-s 

168.  -4 TrI-41t-  

(1) 	tEi 	 (2) 	tlui (3) ZIT (4) If-4 

169.  1451 4 	: 

(1) 	9 	 (2) 	.q (3) (4) 1HO 

170.  -TT 09-Z1l. 	\TPicri 	Liq q(1174 t : 

(1) 	faztr 	(2) (3 ) 1.'q (4) chl-tilt 

171.  fd" 1:ft : 

(1) 	 (2) 	4,1u1 (3) 044c4d (4) 1,11%1 

172.  -9.  71 	 3INTT 	%Mt ! 

-714-1?1 tAtilW 	31--4-*7 t : 

(3) (4) 	 dc4k-TT (1) 	co4c4.) 	(2) dqHI 

173.  “Triti 7:4 	3t1 -11 f:-R*61 Th.  11171 Tt-4-q.  74 OW t : 

1:18h1T (1) 	-TA 	 (2) 	ou-lq (3 ) ligri (4) 

174.  4 -it-cic-11 •k- 	t : 

(1) 	31TP:1 t-R-Tu 	(2) 	-git1:11-7 (3) 14-A•TT7 (4) thmq 

B.Ed./2017 	 52 



131. 7r74 	t-ihctich chl4 chrci 4 upitll 	f*-r' gRi fwiT 	 

(1) 	onc-rusilit 
	

(2) 	3T1 	'1T 

(3) 	44‘,  cnv 
	

(4) 	A114)-151-I 

132. '50'14 	c-tict) 444 Tit fi:E4T f*-7:1kART i'ffifT 7711 ? 

(1) 	 (2) 	3-171(ifg 

(3) 161011+0T 	 (4) -4ITv 

133..."* TN( -4411Ti TIMT ■71 411 (IQ f*-dt 

(1) Z 25,000 	(2) 	50,000 	(3) 	10,000 

134. ligtzTITttzT Ii i 32TITTIFTFT 3WIAT 411 2ft ? 

(1) TTY Tzri 	 (2) 	 

(3) TIfTITT TiTfeF 	 (4) 	 311:7 c4 

135. ft 	4.1.)'3IfcR 	%-4-4-179. 	ch 	? 

(1) 	TESUR 1 ■31-1 	 (2) 	-491:1'ffift:t 

(3) 3-717 k 	1 	 (4) tiAlltiftk 

136. ittIT tIR 7R:ft     fmrq TaiT 2TT ? 

(1) T4ki 	 (2) #12170.  37-4.1#112TkE 

(3) 	0-le."11-C-1.-t 	 (4) 	311:11f971 

(4) 	5,000 

137. IGNOU (FI) ""1.  'Wtr9T chtsi 	? 

(1) 1971 	 (2) 1977 
	

(3) 1985 	 (4) 1989 

138. f4V4  	 aftiwoevAR -r-*--zu Alor t? 

(1) 	1-11f-11 1 1t 	 (2) 	all'itT 	 

(3) areFfizw 	 (4) 	 

139. fdkr4 tm-r 	 t? 

(1) 	ctv-iisi 
	

(2) *DT 01-0-4 3-11:IfTW 

(3) 	T-OT 
	

(4) ••1-"At 

140. cprilAr-10 1415.1 tTTff ‘(4 sft, "qTtq 	Trf-d-IT 	 41114) 	fffttur 4) cfActi t? 

(1) 311.71.3971. 	(2) WM* 	(3) t. alit:RIR .. 	(4) t.t.t. 
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PART-B 

SECTION-V (iv) : ENGLISH 

Directions (Q.Nos. 141 to 145) : 

Choose the word that is nearest in meaning to the underlined word. 

141. A good dictionary is indispensable for learning a language. 

( 1) ) Desirable 
	

(2) Helpful 
	

(3) Valuable 	(4) Essential 

142. The police have succeeded in arresting Rajiv's assassin 

(1) Opponent 	(2) Enemy 
	

(3) Murderer 	(4) Rival 

143. Grandmother suffers from chronic arthritis. 

(1) Of long duration 
	

(2) Painful 

(3) Occasional 
	

(4) Symptomatic 

144. Radha is an able lent diffident student. 

(1) Difficult 
	

(2) Shy and meek (3) Confused 	(4) Confident 

145. His judicious handling of the matter saved the situation from going out of control. 

(1) Reasonable 	(2) Amicable (3) Cautious 	(4) Nervous 

Directions (Q.Nos. 146-150) : 

In each of the following group of words, only one word is correctly spelt. Select the word with the 
correct spelling. 

146. (1) Reminesent 	(2) Reminescent 	(3) Reminisent 	(4) Reminiscent 
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